@ 330a=3.3ha
® 540000 m? = 54 ha

B 1.7km?2 = 17000 a,

@ 20ha = 0.2km?

@ 6.1ha = 6100m?



2. o5 FHEA vERd 2l ol AdYt

@D 3.6ha = 360 m? @ 46a = 46000 m?
® 240a = 0.024 km?2 @ 300m? =0.03a

3 8km2 = 8000000 a,



FolA wolvk 7bg 2 2l ol ALY

@® 0.04km? @ 0.4ha ® 400a

@ 400000 m?2 G 4ha



4. ZFAA Wol7k 7P 2 A2 o= 3 Yurh?

® 4m? @ 40 cm? @ 40m?

@ 4000 cm? 3 40000 cm?



D 8000g — 8kg

@ 0.4t =400kg
® 1300kg = 1.3t

@ 0.17t =170g
® 5630000 ¢ = 5630 ke
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D 126 + 180 @ 126 - 180
® 126=7-180+9 @ 180+9-126=T7

® 126 =74+180+9
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FoI o] 25 7450] 471, W3 F0] 870, et 0] 27,
&0 37) Sol gtk of FoUeIA & A4S AL u,
0] ol Hetol 22 Fgolt @ Ta0l e A

5]
2=
gg 52
e A2 o8 FolH DAL,



10. Az kYol A7k 370, A7 1170, b 770 501 54
ot a2 AE A o, FukE A 7Hs S = YERAL L.
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4.2ha

)

420(

)

42000(

@ km?, a
® ha, a

@ m?, cm?

@ ha, m?



12.

( )qtoll dur2 @& A= 13 A2 oL ZARIA] 2L
3700000( ) = 370( )= 3.7 km?

® m?, cm? @ m? a ® m? ha

@ ha, m? ® a, ha



13. HAAPAGE] HolS 2 ekl 22 ol AU
@ 480000 m? @ 4.8km?

® 4800a @ 48ha

(3 4800000000 cm?2



14.

_O_
T—
4—‘3_:
2 kg

®© 72, 1kg @ L, 0.1kg

oldl&= 3.2ha 9] =oflA] & 5.6t & AF45FA, W= 4.5ha
oA & 7920 kg & AATFAHUT 1a G ALFE ol o
o S5zt

O

® ¥4t 0.01kg

@ W4, 1ke ® W, 0.1ke
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